2019 4EFE 3 EFEX (1)

BEITY >+ BE (155-5)

L@A) y=a"+7x+13 O

= x+z)2—£+13~(x+zjz+§
U2 a4 T2) s

£V, Q07 Z 7 DIERDEER

ey

@) y=-2£*+12x-25 --@
=—2{x*-6x}-25=-2{(x~3)* -9} -25
=-2(x-3)*+18-25=-2(x—3) -7
L0, @075 7080 mEE T

3,~7)

2. () % —T7x-18=0
y=2"-Tx-18DJ T 7%,
< [2* OERE]=1>0 L Y LIZBE<
2 IR, £ -Tx-18=0 ZfiRX
(x+2)(x-9=0 - x=-2,9
EV, HRDL S
2B, XoT, Zo
2 ARG DRI 5 0 =~
2) ~x*~13%5+30>0
PR & (-DE LT,
%% +132-30<0
CIT y=2"+132-30D 7 7 7L,
[P DFRE]=1>0 LY EizhA<
B 2% +132-30=0 AR X
(x+15)(x-2)=0 . x=-15,2
XD FEo LD
225,
LXoT, T2k

®)

REX DM

3 22 —5x-2=0
y=x2_B5x 2075 Tk,
[ ORHE]=1>0 £ kicEE<

cx BIRTE, #%-5x_2=0%fx

_5:|:\/3_3

. _
2
£V, FED LS \ / o

A, LoT, =

2 WAL OfF

5-m<x{5+¢ﬂ
2 T 9

5-+/33

(4 25— 24+6<0

ML % (-DfF LT,
2% 4+x-6>0
ZIT, 9=2x 45605 7|,
[ DIRH]=250 T 1 FirEE<
cxBIRE. 248 +x—6=0%fRX

(x+2)(2x-3)=0 .:xz_&g

kv, FRoLS
lZip 5,

LoT, 202k
TERORIL

3
i 2,x>>
X< x>z

%% <16

£ -16<0

5+4/33

2

2019 FE 3 ¥FEX (LM

LT, y=x2-16DF T Tk,
[ OFREEI=1>0 L0 FloEE<
xR, P -16=0%fF

(x+4)x-4)=0

LY, FHED LS

W3,

foT, Zo2w

FEROfE

—4<x<4
(6) 3% =5y

3x* -5x=0
TIT. y=322-5x DT T T,
[ DFRHE]=3>0 L v kLicpE<
2 BRI, 32% -5y =0 % MEX

Sex=44

#32-5)=0 5072
~'3
L0, AR XS
B, ‘
Lo, mD2% ; : o
RER ORI 3
xéo,xgg
3

3.

Y=2x-3°+1D7 77 Cix, THAMNGBDT
H 5 Tz iz i,

Q) C L x 8 RFHRT T 7L,
TERBG,—1D)Th 3 Eiz i il
Lo T, #oRt

y==2(x-3)"-1

@) C &yWdfins s 7,
THRB(—31)Th 3 Fiof i,
L=~ T, o=t

¥y=2(x+3+1

@) C LIERAHRS T 7%,
THRD(—3,—1)Th 5 _Lic ik,
Lieio T, To=ix
‘y:-ﬂx+3ﬁ-q

W Y=+ -1

X
0 ,!
i K
-1
Co-h) 1
@) Ysowv -2
= = (%~ 4x) -2
= - {o-n-22) -1
= —x-t+ 2
y4 (2,2)

/1 R
f




